
Time: 10 Minutes Paper Math 8 (T-1) Total Marks: 10

1st Month, 1st Week, 4th Day Sub domain (i) Exercise 1.2 Q#1

Q.1. Choose the correct options.   (1x 5 = 5)   ŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,XXXX
(i) Which of the following is additive inverse property?

ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyyÏÏÏÏRRRRwwwwkkkk{{{{¤¤¤¤ìììì????
(a) 12+(-12)=0 (b) (c) 11+0=11 (d) None Ãð7

(ii) Which is a property? xy = yx ttttÃÃÃÃyyyyÏÏÏÏ{{{{¤¤¤¤ìììì????
(a) multiplicative inverse ¢!wk
(b) commutative property w.r.t. "X"    {¤IŠ!äp¢[
(c) associative ˆix (d) clossure                            Èl
(iii) Which is property w.r.t. multiplication?   –5x11 = –55

–5x11 = –55 ttttÃÃÃÃyyyyÏÏÏÏ{{{{¤¤¤¤ääääpppp¢¢¢¢[[[[ìììì????
(a) commutative     IŠ! (b) associative ˆix
(c) closure Èl (d) all of these tÓx
(iv)Which is a property?  22 x 1 = 22 ttttÃÃÃÃyyyyÏÏÏÏ{{{{¤¤¤¤ìììì????
(a) multiplicative ¢! (b) commutative     IŠ!
(c) associative ˆix (d) closure Èl

(v) Which is a property?      14+20 = 20 + 14 ttttÃÃÃÃyyyyÏÏÏÏ{{{{¤¤¤¤ìììì????
(a) associative ˆix (b) multiplicative ¢!
(c) closure Èl (d) division iÏŠnÛo

Q.2.   Identify the property of real numbers.      (0.5x10=5)

ÇÇÇÇZZZZ°°°°ZZZZŠŠŠŠÅÅÅÅ{{{{¤¤¤¤ÅÅÅÅÙÙÙÙ||||####™™™™,,,,XXXX

(i)      (ii)   

     (iii) (19+12) + 8 = 19 + (12+8)    (iv)   -3+(23+48) = (–3+23)+48

     (v)     (vi)  12x46 = 46x12

     (vii) x.(y.z) = (x.y).z   (viii) 89x1=89

     (ix)     (x) π + (–π) = 0
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